—— A
N = 0] &F AF S & AN A
20208 = 20l AF LEHS|H of & 1t
2 &
M S (ZELXEIHL /L)
CHe|: oftA 22 (2 &HH)
(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
of & 1t 32,688,563 33,533,695 N 845,132
& 10,637,000
Al 22,051,563
O ZAC(ZEL XA /SXH) 19,272,912 21,163,895 A 1,890,983
o= 10,357,000
Al 8,915,912
ofd 22l 19,272,912 21,163,895 A 1,890,983
=} 10,357,000
Al 8,915,912
NesotdE e % 4,777,000 3,370,001 1,406,999
401 Al HI L £ 0HHI 4,777,000 3,370,001 1,406,999
01 Al& B 4,753,897 3,350,636 1,403,261
248 g0l 2=0lA1d e & $—ﬂ§ A
= At 500,000,000 = 1JH2 = 99.28/100 496,400
OS0td Q2H ot EHI ALY
1,300,000 = 300m * 99.28/100 387,192
OHRA 2l A2 A
00,000,000& = 1JHA * 99.37/100 695,590
OAN&ED YXE AMATIE ELZ2A
100,000,000& * 10 A 100,000
ONMAZEL AHH GtF 223 A
200,000,000 = 1JH A 200,000
OMAE &HICH2l ZAEAY AAEH 4
500,000,000& = 141 * 99.28/100 496,400
ONHSE BSiXt &2 E232E ZT&
500,000 = 400m * 99.28/100 198,560
OZ)| SHA sEHUoLE Al 2 A
3,000,000 = 200m * 99.37/100 596,220
OXNYolE(ME UWLEA) ota ERE =&
5,000& * 110,000m" =% 99.37/100 546,535
O2d 0elol 2=0lAld 23 At
100,000,000 * 14! 100,000
OMAE AlA HE =3 At
10,000,000 = 1000 2 100,000
Od&dd ANEZ NES=3A
10,000,000 * 50 £ 50,000
OY=F=1 o8 FLUHJAIE HH|
30,000,000 = 1Al 30,000
ONE Hed 22 U Jise 24
1,500,000& = 10& ~ 13| 15,000
ONE S8 +222(3 2 24)
5,000,000 = 43| 20,000
OM&E 28d =318 22l 2 HMESY
30,000,000 = 43| 120,000
OME 2BaM2 257 el U NEXY
8,000,000 = 43| 32,000




N = 0l & At & Ml A

20208 & =0l & L BHSI A oA It
2AM: A
M A (RELNANL /4T )
chel: ot el (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OSAHHE MH3¥ =37 22l € M=xg
8,000,000& = 43| 32,000
ONd Mg ¥ =X SHII &Y
50,000,000& = 33l 150,000
OLed MY 2 SX EHI =
25,000,000& = 23l 50,000
OFMMEN(ME, &) X &L aHxl
4,000,000 = 23| * 5o 40,000
OXZgsotd Mo X7 2USE=S A
30,000,000& * 402 120,000
OXgotd otaddl ZHLR(SH)
800,000 = 5CH * 4004 160,000
OXgstd LI LR ZH Xt
600,000& = 10CH = 3=l 18,000
03 AlE 2 THHI 23,103 19,365 3,738
O2F HEol E=0IAE e & F=XHE =4
S A 500,000,000& = 1JH4 = 0.72/100 3,600
Os0td 22 M ot EHIALY
1,300,000 * 300m * 0.72/100 2,808
Od2d 28 28w &X
700,000,000& = 1J#Z4 = 0.63/100 4,410
ONE &HHICiel ZdAMY AdAEH ES
500,000,000 = 141 * 0.72/100 3,600
OME Bt &2 E23CE T
500,000 = 400m * 0.72/100 1,440
OZJ SHA tEHWotT FHISA
3,000,000% * 200m * 0.63/100 3,780
OXgotdE(ME LHEH) oty EIHE &4
5,000& = 110,000m * 0.63/100 3,465
SHEAIE=S 22l 222,315 453,496 A 231,181
101 @144l 114,763 293,252 A 178,489
04 JIZHHZ2Z2XNHESE S+ 114,763 293,252 A 178,489
OMEEX &Ll o2
68,7203 * 15H » 40 41,232
OLRMET OBl ALY
68,7203 * 8% = 40 21,991
ONE JIE2 RSN ot@ze o2
68,7203 * 10¥ = 153 10,308
ONBMEHSI2A AldSRel o
68,7203 * 3¥ » 100 20,616
ONYsd =8 85 U Hyl AL
68,7208 = 3F * 10& » 10J{otA 20,616
201 Let24dH] 93,150 141,610 A 48,460
01 At 22/l 37,750 35,850 1,900
OJdlsXtesI &3l 23,000
— s A=Y 70,000& * 108 = 102 7,000
—ANE Hod 70,000& = 102& = 102/ 7,000
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2AM: A
H: oA (ZELXNS ML /=T)
ool stE e (29l & 2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
— ¥ FA0HH 90,000& = 10¥ = 103l 9,000
OHAMAL AII2HANEH 22
70,000& = 2% = 103 1,400
OHHE TH 2] 1,500
~EEEM Q AL 42X E
60,0002 * 53 300
—A4X SHOtHE 25,0003 = 43 » 12& 1,200
O & 3t T2 |FAE=
600,000& = 34 1,800
OEAHARedE MA 2 30,000& * 2008 6,000
OJIzXZ/ds 89 M=
60,000& = 103l 600
OAadtd 2tel &3 3,450
— A3 HHE 70,000& = 53 » 3¢ 1,050
—ANE Hod 70,000 * 5% = 3 1,050
—9d FA0H 90,000 = 5% = 3 1,350
02 =24l 55,400 105,760 250,360
OM&E, 838 X 2% HIIRS
4,000,000& = 63 24,000
ONME E3A JIsE 2% &IIes
1,000,000& * 53 5,000
ONQI2EH, J8d ZX N5+5R3
2,000,000& * 63 12,000
OMBZZ FMI|MH HEB2UE +42
150,000& * 12& 1,800
OM& E33 ZEX HAH
500,000& * 68 * 13 * 30HA 9,000
O&E&CIZAI| JIAH, ol=I] =2l
600,000& * 3& 23] 3,600
206 = Hl 14,402 18,634 AN4,232
01 MHZ 4l 14,402 18,634 AN4,232
OoxZdzel Mzs ¢ 3,600
—HZ 8,000& = 100X * 23| 1,600
— &l 200,000& = 10& * 13l 2,000
Ost= 7Y 10,000& = 3&Z = 100% 3,000
OXIdE+ 2 20,0003 = 58 = 1004 1,000
OoxUZAI RFEU 3,802
- ez 1,490& = 6004 = 33 2,682
— X 3,500& = 404/ =« 8 1,120
OsE(201) & Lt dHI =2 28 7¢
3,000,000& = 14 3,000
X9 A2 A2 940,597 1,006,398 A 65,801
101 14 Hl 27,488 26,720 768
04 JIZHHZ2XREES 27,488 26,720 768




2AM: A
M A (RELNANL /4T )
chel: stEael (er:@e)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Og=35 B0l=3d &0 & szl 02y
68,7203 * 10¥ « 40 27,488
201 ¢er24] 59,990 66,550 A 6,560
01 At 22l 2,000 12,000 A 10,000
OH=HIIAZHIALY At 22l
2,000,000& = 14 2,000
02 =224l 57,990 54,550 3,440
O3 E0t2 SJ(=HI12Y) HIIe3
500,000& = 12& 6,000
OZ2=3 E0t2 S (+H23Y) HII23
200,000& = 12& 2,400
OZ=35 EEE2Z MIIRS
2,500,000& = 12& 30,000
Ogd d=H IR 100,000& * 12& 1,200
OEd= dUN s HIle=
100,000& * 12& 1,200
OTVEA RS (YFS SHEZL, HEEF)
50,000& * 204 * 128 1,200
OBOIZZAL MIIAL GHEBR| 422
130,000& » 204 « 12& 3,120
OS2 dLU(SZI) MHBA £ A=
=2 110,000& * 12& 1,320
Osd= dUU s IISAM
150,000& * 13l 150
O+p2Z @ &4 A/ (AR S)
7,000,000 = 13l 7,000
OSNIEZY S AL 24 L 22
1,000,000 =+ 43l 4,000
OB2dFE& 0WHIl =cldl  200,000& * 23] 400
206 M= Hl 3,119 3,128 A9
01 =8l 3,119 3,128 A9
OZFs E0IR3A =F2el Mz 2,600
—HEz72g 5,000& * 100Z * 23] 1,000
— g7 200,000& = 48 * 23| 1,600
OssUH 269
— LR 1,490& = 204 = 93 269
Ol 42 RE(4E S) PY
50,0002 * 20K 100
OZ3U st&Ea FX 7 50,0008 » ML 150
401 A& HIZ 201 8] 850,000 910,000 A 60,000
01 A& HI 844,096 903,754 A 59,658
Og9=x35 E0T3E, HIEZZ AN&E2 RAZ
2l 30,000,000& * 14! 30,000
OZB0I28d FIE ZEAY
500,000,000& * 14l * 99.28/100 496,400




2AM: ot&E
FH: G2 (RELX
Chel: Gt 2tel

I
<
e
~
i
-
rio

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OES0R 3 HYANL (3EAY S)EXSA
320,000,000& * 14l * 99.28/100 317,696
03 Al 2 THHI 5,904 6,246 A 342
OZNRZE =X gAY
500,000,000 = 14 * 0.72/100 3,600
OE0lU=8 =X& =4 ¥ H2AAME EXA
e 320,000,000 = 14 * 0.72/100 2,304
(S)XNLotEFH(ME, SH)(NMSAL) 12,303,000 13,334,000 A 1,031,000
< 9,842,000
Al 2,461,000
401 Al HI K 201 12,303,000 13,334,000 A 1,031,000
< 9,842,000
Al 2,461,000
01 A& Bl 11,852,553 12,702,166 A 849,613
OMNE XI5 o & XHoH Ol 2 At
8,183,000,000& = 14l » 99.75/100 8,162,543
= 6,642,000
Al 1,520,543
O=AH X7 of & THoll ol 2 At
3,700,000,000& = 14l = 99.73/100 3,690,010
< 3,200,000
Al 490,010
02 Zteltl 420,000 600,000 A 180,000
OME X7 St& TH ol Ol 2 At
120,000,000& * 14 120,000
O=AHX 7 ot& THofl off 2 At
300,000,000& * 14 300,000
03 A& SR THHI 30,447 31,834 N 1,387
OME X7 St& THoH Ol 2 At
20,457,000& = 14 20,457
O=AHX 7 St& THofl ol 2 At
9,990,000& * 14 9,990
(E)Z=d HEMHM B2 ZEAS (HEAY) 1,000,000 3,000,000 A 2,000,000
< 500,000
Al 500,000
401 Al HI R 201 I 1,000,000 3,000,000 A 2,000,000
< 500,000
Al 500,000
01 A& HI 993,700 2,989,200 A 1,995,500
OZ=dEHHIS2AELAY
1,000,000,000& = 14! * 99.37/100 993,700
< 500,000
Al 493,700
03 Al 2 THHI 6,300 10,800 24,500
OAF YO CHHZAE LAY
1,000,000,000& * 14! * 0.63/100 6,300
(Z)otE Rl (FU=H) 30,000 0 30,000




2N
X ZH -
L= B
el

ot & ot
StEZ(2ELNGNL/=TE)
ot 2el

(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 75,000
Al 15,000
401 Al HIZ 201 I 30,000 0 30,000
< 15,000
Al 15,000
01 A& HI 30,000 0 30,000
OZJlg Suiel €3d HUlAL
15,000& * 2,000m" 30,000
< 15,000
Al 15,000
Hol 2 (SSEMULSE /TS - 2129]) 12,264,773 12,149,631 115,142
< 280,000
Al 11,984,773
[ESESH]] 12,264,773 12,149,631 115,142
< 280,000
Al 11,984,773
2ot N At 4,914,770 4,557,131 357,639
101 @14 Hl 25,770 26,720 A 950
04 JIZHHZ22XNHSE+ 25,770 26,720 A 950
OO0tSt2Act&IIRI| 2
68,7203 * 5% * 30 A » 256¢ 25,770
401 AIEHI L 20 4,889,000 4,530,411 358,589
A& HI 4,857,995 4,516,627 341,368
OAdtd Fl 4,857,995
— AGHE (198014 ) S Xl2el
1,000,000& * 300km 300,000
— Aot MoK+ 2+
30,000,000& = 1374 & 390,000
— 25Hd SHaEHI 2,000,000 * 50km 100,000
—JAEAGE A2 ®A&2
50,000& * 2,400m 120,000
— SIS Heel HAEE FHHISA
830,000& * 100m * 99.10/100 82,253
— SIS Wil HsE U SA
500,000& * 200m * 99.10/100 99,100
—2JI& =1l 202& ZHISA
830,000& * 100m * 99.10/100 82,253
— SIS WAz HxZH FHISA
830,000& * 100m * 99.10/100 82,253
— 0]t 2412 LHEASHE U SA
500,000& * 600m * 99.28/100 297,840
—0l&tH HEiel E=2A0td ZHISA
500,000& * 100m * 98.92/100 49,460
—0l&H 221el = A0ty EHIZA
500,000& * 100m * 98.92/10 49,460




SN BHE D
HH: o2 (SSEM LN /THHET - 212el)
&l ot FHI
5 - 4
A - ER(EN) - AR - B of & o4 e
—Ol&HD Al%3e| =408 JHISA
500,000& + 100m » 98.92/100 49,460
—0l&te Xs1el gUHR=s E=40d FH|
S At 500,000& + 120m = 99.10/100 59,460
—0l&t S22 OtHE A= ofl2actd 3
Bl = Al 500,000& + 400m » 99.28/100 198,560
—Ol&H AH2e| SF= MollA0td FHIS
At 500,000& * 60m 30,000
—0l&H X S22l XgtE 4otd FJHISA
500,000& * 60m 30,000
—Ol&H MEe| =40 JHISA
500,000& * 60m 30,000
~Zeo B2 Y24HE FHITA
600,000& * 100m 60,000
— &8 5212l sS4 A0td ZJHISA
500,000& + 120m = 99.10/100 59,460
—F4e SH2 YL ZHIBA
500,000& + 120m = 99.10/100 59,460
—m40 3232 HJlel AGE HUIZA
500,000& + 120m = 99.10/100 59,460
— &8 SH12 s5=40td JHSA
500,000& + 240m » 99.28/100 119,136
~ AP AE3E ASLHE FUIZM
800,000& * 100m 80,000
—oHEN W=l EZAGHE FHISA
500,000& + 200m » 99.10/100 99,100
—OtEE Z4t2e] AHHACHE FHISAL
500,000& + 200m » 99.10/100 99,100
—oHHP g2 SUAGE FUIZM
500,000& + 200m * 99.10/100 99,100
—Qot¥ P AR SXNSA0HE FHSAM
500,000& + 100m » 98.92/100 49,460
— o8 212l 2¥0l= aotd FJHISA
500,000& + 100m » 98.92/100 49,460
— SEH T2 +85 83408 FHIS
At 500,000& + 300m » 99.28/100 148,920
—S8H SF4He A0ASHE FHISA
500,000& + 300m » 99.28/100 148,920
—S8d E12 HEL0ld JHSA
500,000& + 200m * 99.10/100 99,100
—S8H E22 WELoHE JHSA
500,000& * 200m * 99.10/100 99,100
—S8H 2332 AgLold JHSA
500,000& + 200m * 99.10/100 99,100
—S8H |d22 HEHOIASHE FUISA
500,000& + 100m » 98.92/100 49,460
—S80H dtE12 M AGHE FHI S A
350,000& + 200m * 99.10/100 69,370




2N
X ZH -
L= B

el

ot & ot
HoH2 e (BSEMLOHE /THHEH - 212 9l)
St& &l

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
—=E0 Hj&E22 S8 ActE HHIZ2A
500,000 = 120m * 99.10/100 59,460
—=E0 Hi&E12l BaRAHLGIE HHI BA
400,000€ * 200m * 99.10/100 79,280
—+=E0 &2 SHZE EHEAGIE AUl SAH
600,000 = 200m * 99.28/100 119,136
—=E0 HF312| FuAotdE HHIZ2A
350,000 = 200m * 99.10/100 69,370
— =50 BEf&32 B AGHE AUl S A
350,000 = 200m * 99.10/100 69,370
— =50 &2 HHE AGHE AUl 2 At
350,000 = 200m * 99.10/100 69,370
— CHAFS IpA e XA AGHE EBIZAE
500,000 = 120m * 99.10/100 59,460
— CHAFGY I A 2| SEEA A FHHIZ2A
500,000& * 200m 100,000
— CHAFGY 32| A0S AGHE HUIZAH
500,000 = 120m * 99.10/100 59,460
— 240 EH22 otEAAGHE HUIZA
800,000 = 350m * 99.28/100 277,984
— 240 2422 SSAGHE AUl 2 A
500,000 = 200m * 99.10/100 99,100
— sl AFHE ABAGHE HHIZA
500,000 = 200m * 99.10/100 99,100
~4ES SEAGE FUITM
500,000 = 200m * 99.10/100 99,100
03 Al&E 201 Y| 31,005 13,784 17,221
OAdt @B 31,005
— 205 woel NEE FHIDA
830,000& * 100m * 0.90/100 747
—- 2018 iz WSE IHTA
500,000& * 200m * 0.90/100 900
—ZJ|8 =12l 20I=2d FHISBA
830,000& * 100m * 0.90/100 747
—EOlg WH2el WASH FHUITA
830,000& * 100m * 0.90/100 747
— 0|t A2 LHEAGHE A H|Z2 At
500,000& = 600m * 0.72/100 2,160
— 0| & A E12| E3AGHE Al SA
500,000& * 100m = 1.08/100 540
— 0| 2212l X2 AGHE EH|IZ2A
500,000& * 100m = 1.08/100 540
— 0| AP A3 £SA0HE Al S A
500,000& * 100m = 1.08/100 540
—0l&H Xs1el HUFRE g§34A0d A
=2 Ab 500,000& * 120m * 0.90/100 540
—0|&FH SE22 Ot &2 gl AsHE &
Hl = At 500,000& * 400m * 0.72/100 1,440




2N
X ZH -
L= B

el

z= o

FOCINE!
o K

ol

SA-3H-S(3AH) - MRAS - BES Off &t 24

— 40 =212 34 Aold ZHBA
500,0008 * 120m * 0.90/100 540

— 4l SH2 YL FHIBA
500,0002 * 120m * 0.90/100 540

— 40 5232 HIl2l A5HE JUIBA
500,0002 * 120m * 0.90/100 540
12] HBAGHE FHISA
500,0002 * 240m * 0.72/100 864
—otHP LfEel SEAGAE FUIZA
500,0002 * 200m * 0.90/100 900

—ohED BaRAl AHASHE HUIBA
500,0002 * 200m * 0.90/100 900
Hal B4A5E FHISA
500,0002 * 200m * 0.90/100 900
—oHHP YRE| SXBAGE FUIBA
500,0002 * 100m * 1.08/100 540

—OHFE 212 PHOIB AGHE FHIBA
500,0002 * 100m * 1.08/100 540

B Cacel 423 BHAGHE IHIB
500,0002 * 300m * 0.72/100 1,080

B SaHal ADIAGHE HUIBA
500,0002 * 300m * 0.72/100 1,080

HO (HEfel WERAGHAE FUIBA
500,0002 * 200m * 0.90/100 900

Bl &2l HEAGHAE ZUIZBA
500,0002 * 200m * 0.90/100 900

Bl 2832 FLASAE FUIBA
500,0002 * 200m * 0.90/100 900

BO Ru22l HEH0IAGHE FHIBA
500,0002 * 100m * 1.08/100 540

B StElEl SHMAGE FUIBA
350,0008 * 200m * 0.90/100 630

— =50 Hi&E22l 93 A6tE HHISA

o R wei e g

500,000 * 120m = 0.90/100 540
— =2 i1l BHEALGHE FHHISA
400,000 * 200m * 0.90/100 720
— =50 BH&¥cl SHE EHE Ao ZHISA
600,000& * 200m * 0.72/100 864
— &80 12 FuActE HUISA
350,000& * 200m * 0.90/100 630
—&==% &3l EBHEAGHE ZHISA
350,000& * 200m = 0.90/100 630
—&=5% ti&¥22l BHEAGHE ZHISA
350,000& * 200m * 0.90/100 630
— e RAe| A AGHE FHHISA
500,000& * 120m * 0.90/100 540

— e 232 40I=sAGHE FHISA
500,000 * 120m = 0.90/100 540
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ot 1t
ol 22 (SSEMUHE/THHLTH - 2rekel)
ot & & dl (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
— S48 222 otegaAGtE FHI S A
800,000 = 350m * 0.72/100 2,016
— 2Ap o2 SALGHE FHIBM
500,000 = 200m * 0.90/100 900
—2ap AdEE ARASHE BUIZA
500,000 = 200m * 0.90/100 900
—ANES EZ A6 FHBISA
500,000 = 200m * 0.90/100 900
N &I E 2= At 2,666,000 2,680,500 A 14,500
401 AIEHI L 2CHEI 2,666,000 2,680,500 A 14,500
01 A& HI 2,648,666 2,665,119 N 16,453
OM& &I 2,648,666
— M& SX2cl 1,000,000& * 200km 200,000
—NE MHHRAEX 7 2SE=+
20,000,000& * 13044 260,000
— MI& StatE I 2,000,000& * 50km 100,000
—3JI8 d722 NME EFHISAM
830,000& * 100m * 99.10/100 82,253
—3J1S &otel 2L NE FHSAM
580,000& * 100m * 99.10/100 57,478
— 0l AMA22] HEZ ME ZHISA
500,000& * 200m * 99.10/100 99,100
— 0l el 82 NME FHHISA
400,000& = 200m * 99.10/100 79,280
—E20 2312l &% NE HUISA
450,000& = 200m * 99.10/100 89,190
— 22X B2l NM&E ZHZSA
900,000& * 200m * 99.28/100 178,704
—E2H 2222 9SS M=K 2 ME FHHI
= A 200,000& = 150m 30,000
— 20 12l 835 NE HUISA
200,000& * 250m * 98.92/100 49,460
— 208 XZH22 ALAIZ NE EHISA
200,000& * 450m * 99.10/100 89,190
— 20 e SEHOS ME ZHISA
200,000& = 200m 40,000
— 0 F4del LIgEES NME ZHSA
200,000& * 250m * 98.92/100 49,460
— 20 5222 M= HE FHSA
200,000& = 200m 40,000
— 0 d4del DE=S NME ZHSA
500,000& * 100m * 98.92/100 49,460
— &0 SH12 S0HS HME ZHSA
200,000& * 400m * 99.10/100 79,280
— &0 AE32 AE NE HUISA
300,000& = 100m 30,000
— =0 d312 NE FHISA
500,000& * 100m * 98.92/100 49,460
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2 &
B AT (SREMLOE /LS - 2gsl)
Chl: olE A (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
— OO ESZ=12| Il= M&E ZHZA
500,000 = 100m * 98.92/100 49,460
— OO (HE22 &A=2= ME HHIZ2A
500,000 = 200m * 99.10/100 99,100
— OO S=22| QEIUE=2 MHE AHHIZ2A
500,000 = 100m * 98.92/100 49,460
— Ot O ZAH 2 MAZ= ME EHIZ2A
500,000 = 100m * 98.92/100 49,460
— 880 ot=E22 EIEZ2 2 1A A& |
=2 Ak 300,000 = 200m * 99.10/100 59,460
— 280 812 M&E ZHZA
400,000€ * 250m * 99.10/100 99,100
— =280 X2 ME ZHZA
400,000€ * 200m * 99.10/100 79,280
— =50 Xs12l M&E ZHZA
400,000€ * 100m 40,000
— CHADD XA 2| HStsE ME Al ZSA
400,000€ * 100m 40,000
— ChHAFD Ch= 2] HIAE EHIZ2AH
500,000 = 100m * 98.92/100 49,460
— 240 22| NAE HHIZ2A
750,000€ = 100m * 99.10/100 74,325
— 2401 B2 M&E ZHZA
600,000 = 200m * 99.28/100 119,136
— 2401 A1 M&E ZHHZA
450,000€ * 200m * 99.10/100 89,190
—1N8s K& & 0= ME U 2A
500,000 = 100m * 98.92/100 49,460
—N8sS GFANSEE A7 A U SA
500,000 = 100m * 98.92/100 49,460
03 Al&E 201 Y| 17,334 15,381 1,953
ONI& &I 17,334
—EJ|8 83722 M&E ZUZA
830,000& * 100m * 0.90/100 747
—ZJ|S &Jiel 2L3 ME HU BA
580,000& * 100m * 0.90/100 522
— 0|4 A R22] HIEZ2 HE EHIZ2AF
500,000& * 200m * 0.90/100 900
—0|A&FSH Rl st 2 NAE EHHISBAH
400,000& = 200m * 0.90/100 720
—H2H 2312l &8 ME U ZA
450,000& = 200m * 0.90/100 810
—EH20H 212 M&E HHZA
900,000& * 200m * 0.72/100 1,296
— 20 i1l 8% ME U ZA
200,000& = 250m * 1.08/100 540
— 240 XH22l AtAIZ M EHIZ2A
200,000& * 450m * 0.90/100 810




2 &
B AT (SREMLOE /LS - 2gsl)
Chl: olE A (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
— 240 A4 IEgE=2 ME JH SA
200,000& = 250m = 1.08/100 540
— 240 A4 DE2 ME HU ZBA
500,000€ = 100m = 1.08/100 540
— &40 S8 ©0HE ME U Z2A
200,000€ * 400m * 0.90/100 720
— &40 d212 M&E ZUZ2A
500,000& = 100m = 1.08/100 540
— OO ==12| O=2 M&E ZHIZ2A
500,000& = 100m = 1.08/100 540
— OO (HE22 &A=2= ME HHIZ2A
500,000& = 200m * 0.90/100 900
— OO =S=22 QEIUE=2 AHE AHHIZ2A
500,000& = 100m = 1.08/100 540
— Ot O ZAHE MAZ= ME EHIZ2A
500,000& = 100m = 1.08/100 540
— 280 ot=E22 EIEZ2 2 1A AE &
=2 Ak 300,000& * 200m * 0.90/100 540
— 280 812 M&E ZHHZA
400,000& = 250m * 0.90/100 900
— 280 X2 ME ZHHZA
400,000& = 200m * 0.90/100 720
— ChHAFD Ch= 2] HIAE EHIZ2AH
500,000& = 100m = 1.08/100 540
— 240 22| NAE HHIZ2A
750,000& = 100m * 0.90/100 675
— 2401 BAH12 M&E ZHZA
600,000& = 200m * 0.72/100 864
— 2408 A1 ME ZHHZA
450,000€ = 200m * 0.90/100 810
—1N8s |28 & 0l ME U 2A
500,000& = 100m = 1.08/100 540
—1N8s GFANSEE A7 A U SA
500,000& = 100m = 1.08/100 540
A M| (ME)(MEAY) 4,124,003 3,712,000 412,003
401 Al HI L 204 HI 4,124,003 3,712,000 412,003
01 A& H| 4,109,155 3,697,298 411,857
OS2 A0IE HHIZ2AH
1,314,000,000& * 14! % 99.64/100 1,309,270
OS2 A0lE HHIZ2AH
1,177,000,000& * 14! % 99.64/100 1,172,763
O2=2A0lE HHIZ2AH
1,633,000,000& * 14! % 99.64/100 1,627,122
03 Al& 201 Y| 14,848 14,702 146
OS2 A0IE HHIZAH
1,314,000,000& =* 14! = 0.36/100 4,731
OS2 A0IE HHIZ2AH
1,177,000,000& * 14! % 0.36/100 4,238
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ot & ot
HoH2 e (BSEMLOHE /THHEH - 212 9l)
St& &l

= _ — d =
SN FH-SA(EN) - MBAY - BES e HlnE2
O22A0td FHIZSA
1,633,000,000& = 14! * 0.36/100 5,879
(Z)AotEEHIAIS (M &) 560,000 0 560,000
< 280,000
Al 280,000
401 Al HI K 201 I 560,000 0 560,000
< 280,000
Al 280,000
01 A& HI 560,000 0 560,000
OO0l S22 oflZ2ASHAE FHISA
500,000& = 400m 200,000
< 100,000
Al 100,000
O&=&™ 98l HotAotE HUIZA
240,000& = 500m 120,000
< 60,000
Al 60,000
Oz HE12 4= 7 AGHEEHI SA
400,000& = 200m 80,000
S 40,000
Al 40,000
OthatH R332| 0l AGHA FHIS A
300,000& = 200m 60,000
S 30,000
Al 30,000
Ottt S 12l QAAGHA FHIS A
250,000& = 400m 100,000
< 50,000
Al 50,000
Ol AIE 2el(2atd 22 /M=) 933,036 137,609 795,427
HHOITAIE 22l 933,036 137,609 795,427
A=A ARHENSHE 23 339,422 137,609 201,813
101 @124l 61,328 51,839 9,489
04 JI2ZtHZ22HEE =+ 61,328 51,839 9,489
OGFAl NEHSE SSAEH HHA 22l 61,328
—Jles 68,720% * 4% * 156 42,882
- T4 68,7203 * 2H » 52 7,147
— s ssIt=Y 68,720 * 498 » 12¢ 3,299
—ANAEHSE JIAHZ2N & &S
2,000,000 « 49 8,000
201 Let2dE] 56,794 57,770 A Q76
01 At 22l 3,004 720 2,284
OZFAl MHEANSH 22l 3,004
—SEY FA8F 7Y 50,000 x 120 600
—S3ANEH U AIRES ¥
50,000& » 12JH& 600
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S LA
FH: HIOIAAE 2e(2sL 2 /MK)

CHel: HHOIZ2AIE 2tel (&)
= d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
—XNEHZH ZE EH 2Y
200,000& =« 1CH 200
—XNEH ANMES B0 M
60,000& = 10& 600
—NEHSHE & 2 i &X
500,000& = 14 500
— MY SHEHNEE 7L
1,400& = 208 = 180 504
02 =224l 53,790 57,050 A 3,260
OZ=A RNENZSH 29 29,730
—dIIReRa 600,000& = 1243 7,200
—&ot=ER3 100,000& * 12013 1,200
—33N&EN =2l
30,000 = 40CH = 120H& 14,400
—s3Ah&EAH 2E 29,0003 = 230CH 6,670
— R HUHO A HHEIH L
130,000& = 100 = 23l 260
OZSTUEANRAUAHAIAE 2 24,060
—dIIRa 16,0002 = 5JHA = 1200 & 960
—QCIHYAIEE 70,0008 » 5JHA + 120 4,200
~BUEAS 222
15,0002 = 5004 = 1200 & 900
—AN2AE S+ 18,000,000 * 14 18,000
206 = Hl 4,800 0 4,800
01 MHZ 4l 4,800 0 4,800
OXEA =2IRF 20,0008 » 205 * 124E 4,800
T AEHZXEUY 210,000 20,000 190,000
01 A& HI 208,560 20,000 188,560
OXNEN ROUAHHAAE DES &Y
200,000,000 = 14l * 99.28/100 198,560
ONEHEBE NEE RAES
10,000,000& * 14 10,000
03 AlE 2 THHI 1,440 0 1,440
OXEHN RAUHAIAY DEF &Y
200,000,000 = 14 * 0.72/100 1,440
405 XHoHF S HI 6,500 8,000 A 1,500
01 HatH ESFH S 6,500 8,000 A 1,500
O33X&EAN 7¢ 600,000& = 10CH 6,000
ON&EN A8 DEAMAI 2
500,000& =« 1CH 500
NENHEZ HE= 593,614 0 593,614
101 124 dl 85,214 0 85,214
04 DIt Z2XREES 85,214 0 85,214




S LA
FH: HIOIAAE 2e(2sL 2 /MK)

CHel: HHOIZ2AIE 2tel (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OtoI2 g2 =8 EHIJ 9FY
68,7203 = 15H » 50 51,540
OtoI2 g2 staa 22 UFY
68,7203 * 1H » 80 5,498
OsSMAZENY =8 EHID =R
68,7203 * 5H » 50 17,180
O=MBINE s1m4 B2l o2y
68,7203 * 2H » 80 10,996
201 €24l 17,200 0 17,200
02 =224l 17,200 0 17,200
Oottola g%z dH &IJIR3
70,0003 * 504 * 12042 4,200
Otz gz 22X AERS3
400,000& = 13 400
ool g%z dH s 2+
200,000& = 1JHZ = 33 600
OSMZENE BB 24
200,000 = 4012 = 33 2,400
OSMBBINE &I L 2523
200,000 * 4JH4 * 12003 9,600
206 M= Hl 1,200 0 1,200
01 M= 4l 1,200 0 1,200
odtola g%z dH HAEE P
50,000& = 12JH& 600
O=MBBHHE SIHAUSE 7
50,000& = 12JH& 600
401 AIEHI L 20 490,000 0 490,000
01 A& Hl 487,840 0 487,840
O2suw HOoIZEE=2 03 HZAY
300,000,000& = 14l * 99.28/100 297,840
Othol2 ez AlIE28 HE+3 A
200,000& = 500m 100,000
O=MZZAFHNE ANES HESSA
5,000,000& = 40 A 20,000
OMEEXUH B &2 BHE0 =8 &X
S A 80,000& = 500m 40,000
OXREHNEZ ZH ATHSA
30,000& « 1,000m 30,000
03 Al 2 0HHI 2,160 0 2,160
O3 HOIZEEZ 03 A2 AY
300,000,000 = 14l * 0.72/100 2,160
HY 2B (St D) (J1EH/DIIE) 97,842 82,560 15,282
JlE3l 97,842 82,560 15,282
JlE2&l 97,842 82,560 15,282
201 LBt 24,402 21,060 3,342




SN BHE D
M HEHBH (ot ) (JIEH/IIE
el Jle 2 (298 R)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
01 At 22l bl 24,402 21,060 3,342
OsAIEX F¢ 15,000& * 188+ A « 128 3,240
OEZuadl 7,000& * 64! x 18H * 12& 9,072
Odbte= 100,000 = 12& 1,200
OALFAR =AY 50,000& * 12& 600
O =464 9,210
— ZAP(HEY) £=2l 1,000,000& * 1CH 1,000
— T2l %2 100,000 = 5CH = 50/100 250
— S A EY 200,000& * 53 = 10H 1,000
— TZ2IE(EW) E14 200,0008 = 55 = 50H 5,000
— T2 (Z2h) EH  200,0008 x 53 = 1CH 1,000
— PC==2| 100,000 = 18CH = 20/100 360
— JIEt =2ly| 50,000& * 12& 600
ODJIEH AFR 22/t 5,000& * 18 x 128 1,080
202 04 d| 68,040 56,700 11,340
01 20t 68,040 56,700 11,340
Odtd ) FR=& O HI 68,040
— ZLH O B 20,000& = 189 * 12 » 12& 51,840
— 2204 H| 90,000& * 18Y = 10 16,200
203 ¥R =&AH| 4,200 3,600 600
04 ENSHLRF=XH| 4,200 3,600 600
ORANSIELERF=AY| 350,000 = 12& 4,200
204 = 2 4= A H| 1,200 1,200 0
01 M HR-HAY| 1,200 1,200 0
OXHIA2AHAY| (Gt )
100,000& » 1¥9 = 128 1,200
HEEHS(SHED) (SSEMUCHE /TSI - 2189]) 120,000 0 120,000
WEAHA XK= 120,000 0 120,000
WEAHHX = 120,000 0 120,000
701 JIEIS HSHEZ 120,000 0 120,000
01 JIEtSI HE &= 120,000 0 120,000
OX=AMSBEEIAH HEZ2 120,000
— X 2ot&E U AL 120,000,000& * 14 120,000




